SD

D’Sub connectors - Stamped and Formed Contacts

RIGHT ANGLE
BOARD MOUNT CONNECTORS

g Specifications S The Amphenol “SD” series features
—  « Connectors according to: MIL C24308 - NFC 93425-HE5 = [l
i 2 boardlocks.
[a's o
L . . U . . . .
5 Materials and Platings ¥ This series gives you Amphenol's high
= | shells Steel, tin over nickel plating = standards of quality and reliability to
= Insulator Glass-filled thermoplastic, UL 94V- 0 meet all of your commercial
© Pin contacts Brass, selected gold in mating area; requirements.
= 2.54pm (100 p") min.tin on
<< termination area over 1.27um
= (50u") min.nickel

Socket contact Phosphor bronze, selected gold in

mating area;2.54u(100p") min.tin
on termination area over 1.27um
(50u") min.nickel
Rear insert Brass, 2.54pum (100u") min.nickel plated

Boardlock Phosphor bronze or Brass, 2.54pum W

(100u") min.nickel plated

Screwlock Brass, 2.54pum (100u") min.nickel plated o a z pcg

Electrical Data

Current rating 5A

Voltage rating 250V AC/ rms 50Hz

Withstanding voltage 1000V AC/rms 50Hz for one minute W
Insulation resistance 1000MQ at 500V DC

Contact resistance 15mQ max

Climatic Data

Operating temperature -55°C to +125°C U+ Industrial
Salt spray 24 hours =
o Telecom
Mechanical Data =5+ Anyindustry standard
Single contact insertion force 0.54kg (1.191b) max ~ /0O connections
Single contact withdrawal force  0.06kg (0.13lb) min o
= N~
Mating and unmating force L
Unit: kg ( Ib) ~
A4 Style 1A Style 8
No. of Cts | Mate (max) |Unmate (min)| Mate (max) |Unmate (min)
9 3.05 (6.74) 0.36 (0.79) 4.6 (10.17) 0.4 (0.88)
15 5.09 (11.24) 0.46 (1.01) 7.7 (17.02) 0.5 (1.10)
25 8.44 (18.66) 0.81(1.8) 12.7 (28.07) 0.8 (1.77) S
37 12.51 (27.65) 1.1 (2.47) 17.7 (39.12) 1.2 (2.65) y
Standard plating thickness « gold flash <
* 0.381um (15u") gold
*0.76 ym (30u") gold
e 6 0 0 0 0 o <
e o o 0o 0 o

Amphenol



OVERALL DIMENSIONS

A4 style (MIL Footprint)

A+0.38 (.015) _ g
B20.13 (.005) gl &
€+0.13 (.005) g =
D:0.13 (.005) al & B+0.05 (.002)
) E10.05 (002) 2 § g : E+0.05 (002)
g g POSITION#1  POSITION #1 ? ¢ 5 T L1
a‘ o -
< At o444/ (4o 4494
5 Kb oooé([boo44e
| ![l'l! h: \_2-83.2(.126) i
© -
F+0.1 (.004) - g RECOMMENDED PCB LAYOUT
ﬁ d
o ,-3: 6.3 (.25)
PLUG SOCKET _ FT
uu [/ 58 = ==
—_ 1 1 — - oo}
Bl = J ] =g S
= g (( | glz =
— @ @ " é‘
° 1 ﬁnnnnﬂ ﬂnﬂnﬂnnnﬂnﬂnnn é _,_LLMES)
Nb OF DIMENSIONS mm (inch)
CONTACTS A B @ D E F
9 30.84 (1.21) | 24.99 (.98) | 16.92 (.67) | 16.24 (.64) | 11.09 (.44) | 2.74 (.108)
15 39.14 (1.54) | 33.32 (1.31) | 25.25 (.99) | 24.56 (.97) | 19.39 (.76) | 2.74 (.108)
25 53.04 (2.09) | 47.04 (1.85) | 38.96 (1.53) | 38.38 (1.51) | 33.24 (1.31) | 2.77 (.109)
37 69.32 (2.73) | 63.50 (2.50) | 55.42 (2.18) | 54.76 (2.16) | 49.86 (1.96) | 2.77 (.109)
1A style (European Footprint)
At0.38 (.015) = E
B+0.13 (.005) § g
©£0.25 (.01) B i
] e D£0.25 (.01) - 8 B0.13 (.005) .
5|8 E10.13 (.005) § § g E+0.13 (.005)
§_ 3 POSITION #1  POSITION #1 |l * 5 L.
g B \ ) | N 5
s| M (L4444 oo ee/ [te e oo e
g HE v / Ry R *“*‘*( b i
& | i ( | N 2.93.2 (.126) @1 mini (.04
£ T I 3
F+0.1 (.004) e RECOMMENDED PCB LAYOUT
33 g
e 3
| PLUG SOCKET -
=1 | | uu [f &8¢ s
2| all S 1 =5z == ! |
g g’ @ oo B((ﬂ e ooaaooao :“Q‘ §| S | 7.2 (.283)
Irs o oo coooanoe b 3.8(.15)
T (2]
Nb OF DIMENSIONS mm (inch)
CONTACTS A B © D E F
9 30.84 (1.21) | 24.99 (.98) | 16.92 (.67) | 16.24 (.64) | 11.96 (.43) | 2.74 (.108) S
15 39.1 (1.54) | 33.32 (1.31) | 25.25(.99) | 24.66 (.97) | 19.18 (.755) | 2.74 (.108) s
25 53.09 (2.09) | 47.04 (1.85) | 38.96 (1.53) | 38.38 (1.51) | 33.24 (1.31) | 2.77 (.109) o
37 69.4 (2.73) | 63.50 (2.50) | 55.42 (2.18) | 54.84 (2.16) | 49.86 (1.96) | 2.77 (.109) E




Panel mounting option

HOW TO ORDER

M3 or #4-40 screwlock
| H
i N
| = 6 (.236) \m
g U M3 or #4-40
Front Female Screwlock Threaded Rear Insert
4F / 3F 4R / 3R

How to order
L ..SD ... ... ... ... CH .._.C309

T 7 TTTT T JTL

RoHS Compliant plating option:
valid only for

77: tinned shell 0.76um (30u")
gold for receptable part numbers to be written
flash 717: tinned shell as follow:
+ dimples 77 SDuvoeevn, C309
for plug i O 217 SDu C309
177: tinned shell
0.4um fpr receptable mounting options:
(151") T tlnrl_ed shell || 4F = front screwlock 4-40
+ dimples 3F = front screwlock M3
for plug 4R = rear insert 4-40
3R =rear insert M3
shell size: E, A, B, C
PCB locking type: D
configuration: 9, 15, 25, 37 grounding tabs —
+ board locks e
contact type: wn
P = pin Footprint:
S = socket 1A (European)
A4 (MIL)

For special request, please consult factory

©
=
@
£
<3
£
<




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

